A AN
B FEUC B
crel: SAqoInEY (B9 @
SN - SRA(EA) - MRAY - S 01l & o8 p[E-F" HlDE2
840,851 817,621 23,230
= 30,540 30,540 0
YREAB
= 39,400 39,400 0
i 770,911 747,681 23,230
ZRIEM22S 752,921 731,691 21,230
= 30,540 30,540 0
= 39,400 39,400 0
= 682,981 661,751 21,230
S Mol &Y 266,358 265,228 1,130
=D Pl 92,247 91,117 1,130
405  XHOHFSHI 45,030 43,900 1,130
01 Rh&t S5 SHI 45,030 43,900 1,130
O otskz4a A4t WX & 1,130 0 1,130
— HEAEXR 45,0002 * 4CH 180 0 180
— Jls4ll 950,000& * 1MIE 950 0 950
sz A2 77,870 57,770 20,100
Tz 329 39,650 19,550 20,100
201 pt23H] 16,650 11,550 5,100
01 AtR22ltl 13,700 8,700 5,000
O get=g| 5,000 0 5,000
— SIS0 EsHE tE 2] FMEHI 5,000,000& » 15 5,000 0 5,000
03 At sl 2,950 2,850 100
O SERII=FHLAS SaHtE HH 100,000& * 10H 100 0 100
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207 SIRIHH| 15,000 0
01 gAY 15,000 0
O BHXIZ0| BMESE 29| 15,000,0002 * 14! 15,000 0
THE 24 61,080 61,080
= 30,540 30,540

2 30,540 30,540

DTN HBAIRZ GRS AALR (R 61,080 61,080
2 30,540 30,540

2 30,540 30,540

101 2121H] 27,330 34,654
= 12,565 16,227

2 14,765 18,427

10 JIZHZ2AHE2S 27,330 34,654
O OF2t O3 H2tal MHQS 7.852 15,176
-Jea 4 6,040,000 6,040 9,438

2 3,020 4,719

2 3,020 4,719

- su2=2 0 3,92

= 0 1,963

2 0 1,963

201 UL Ay 33,750 26,426
2 17,975 14,313

2 15,775 12,113
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